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Where:  

1 The Production Capacity Factor (PCF) is calculated by dividing the capacity of the 
existing equipment or process by the capacity of the new equipment or process. When 
there is an increase in production capacity, PCF is used to adjust the capacity of the 
new equipment or process to the capacity of the existing equipment or process. When 
there is a decrease in production capacity, PCF is used to adjust the capacity of the 
existing equipment or process to the production capacity of the new equipment or 
process. In this case, this calculation is modified so that PCF is applied to Capital Cost 
Old (CCO) rather than Capital Cost New.  

2 Capital Cost New is the estimated total capital cost of the new equipment or process.  
3 Capital Cost Old is the cost of comparable equipment or process without the pollution 

control. The standards used for calculating CCO are as follows:  
3.1 If comparable equipment without the pollution control feature is on 
the market in the United States, then an average market price of the most 
recent generation of technology must be used.  
3.2 If the conditions in variable 3.1 do not apply and the company is 
replacing an existing unit that already has received a positive use 
determination, the company shall use the CCO from the application for the 
previous use determination.  
3.3 If the conditions in variable 3.1 and 3.2 do not apply and the 
company is replacing an existing unit, then the company shall convert the 
original cost of the unit to today’s dollars by using a published industry 
specific standard. If the production capacity of the new equipment or 
process is lower than the production capacity of the old equipment or 
process CCO is divided by the PCF to adjust CCO to reflect the same 
capacity as CCN.  
3.4 If the conditions in variables 3.1, 3.2 and 3.3 do not apply, and the 
company can obtain an estimate of the cost to manufacture the alternative 
equipment without the pollution control feature, then an average 
estimated cost to manufacture the unit must be used. The comparable unit 
must be the most recent generation of technology. A copy of the estimate 
must be provided with the worksheet including the specific source of the 
information.  

4 NPVMP--The net present value of the marketable product recovered for the expected 
lifetime of the property, calculated using the equation in paragraph (2) of this 
subsection. Typically, the most recent three-year average price of the material as sold 
on the open market should be used in the calculation. If the price varies from state-to-



state, the applicant shall calculate an average, and explain how the figures were 
determined.  
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